Ljunghusens BK

RealBridge 2021-03-17 2021-03-18

SCRATCH

Partavling, 7 bord, 12 par. Antal brickor: 18. Medel: 108.5. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 11 157.6 72.97 Ragnar Carstam - Helene Carstam 27206 92503 Lunds BK
2 5 138.6 64.17 Alice Hammartorp - Roland Hammartorp 56072 56073 Hollvikens BK
3 8 1143 52.92 Bjorn Holgersson - Bengt Karlstrém 88191 81009 Pri-Bri 1936
4 10 1134 5250 Ulla Jerre Rundcrantz - Grete Derand 30769 25475 Ljunghusens BK
5 4 1112 51.46 Mats Andersson - Ulla Lundstrom 29670 4769 Pri-Bri 1936
6 1 108.0 50.00 BoelHedengran - Laila Rydje 3438 3430 BK Zonen - Hollvikens BK
7 2 105.3 48.75 Ann-Charlotte Holgersson - Christer Holgersson 88222 88223 Hollvikens BK
8 13 101.7 47.08 Torbjorn Johansson - Ingvar Andersson 60360 61257 Ljunghusens BK
9 6 91.8 4250 Gerd Roos - Iréne Grahn 53744 53745 Ljunghusens BK
10 3 91.2 42.22 Marie Alfreds-Ohlsson - Sally Winther 45656 93003 Ljunghusens BK - Bridgeklubben 2 Kléver
11 7 87.0 40.28 Malcolm Carringer - Kicki Qvarfordt Carringer 64458 64459 Ljunghusens BK
12 14 82.0 37.97 Lars Hermann - Katarina Magnusson 25496 44905 Ljunghusens BK - BS Damernas
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 6 340-2 *K 100 116 04| 5 6 44 0-1 *6 50 116 04| 5 1 3NO-1 *4 100 102 1.8
3 4 3NO-1 &K 50 6.0 60| 1 2 24V+1 L} -140 74 46| 7 4 4v0O-1 *4 100 10.2 1.8
7 8 3NO-1 *K 50 6.0 6.0[13 14 24 V+1 vQ -140 74 46|11 8 2NV= *Q -120 6.0 6.0
13 14 3NO-1 *K 50 6.0 6.0 3 4 24 V+2 vA -170 32 88| 3 2 3NV= 9 -600 1.8 10.2
1 2 2vV+2 LX] -170 04 116| 7 8 44 V= *] -420 04 11613 10 3NV= *3 -600 1.8 10.2
10 - 6.3 10 - 6.3 6 - 5.1
1 - 8.8 1 - 8.8 14 - 4.6
4 Vast Alla 5 Nord NS 6 Ost OV
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 4 44DS+1 4 990 116 04|11 4 44 S= *Q 620 116 04| 5 2 1¢ N+3 +8 130 8.8 32
3 2 44 N= vK 620 88 32| 7 3 3aN= vT 140 88 32| 7 3 3¢ N+l «Q 130 8.8 32
5 1 24 S+3 & 200 46 74| 5 2 INN+1 38 120 6.0 6.0{11 4 2¢ N+2 46 130 8.8 32
11 8 34 N+2 &K 200 46 74|13 6 INN= v4 90 32 88|13 6 2NN-1 46 -50 32 838
13 10 34O = ¢ A -110 04 116|14 8 44 N-1 48 -100 04 116|14 8 5¢ N-2 *7 -100 04 116
6 - 5.1 1 - 6.0 1 - 6.0
14 - 4.6 10 - 6.3 10 - 6.3
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 4 3v0-2 *5 200 116 04|10 8 2vyDN+1 48 570 116 04|11 7 44 V-3 &T 300 116 04
11 3 2v V-1 oT 100 88 32|11 3 INV-1 49 50 88 32|13 5 INV-2 v5 200 74 46
7 2 3&N-1 vQ -100 46 74|13 1 INV= a7 -90 6.0 6.0|14 3 44V-2 &T 200 74 4.6
13 1 24 S-1 v5 -100 46 74| 7 2 2NV= a7 -120 18 10210 4 34 V-1 v5 100 32 838
10 8 2v V= 43 -110 04 116|14 4 INO+1 43 -120 18 102 8 6 INV+1 v5 -120 04 11.6
5 - 7.7 5 - 7.7 1 - 6.0
6 - 5.1 6 - 5.1 2 - 5.9
10 Ost Alla 11 Syd Ingen 12 vVast NS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
8 6 44 0-3 *9 300 116 04|11 2 34 V-3 v9 150 116 04|11 2 INV-1 *6 50 102 1.8
11 7 3¢ 0-1 +5 100 74 46| 8 1 2NV-1 *6 50 88 32|14 7 2NO-1 a5 50 10.2 1.8
14 3 44 0-1 +5 100 74 46|10 3 3¢ O= 4Q -110 60 60| 8 1 2vS-1 4Q -100 6.0 6.0
13 5 34 0= v3 -140 32 88| 6 4 3NO= oT -400 18 102 6 4 3#0= v8 -110 32 838
10 4 44 0+1 v3 -650 04 11614 7 3NO= aT -400 18 10.2|10 3 24 S-2 a7 -200 04 11.6
1 - 6.0 5 - 7.7 5 - 7.7
2 - 5.9 13 - 5.7 13 - 5.7
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
10 7 24 S+2 *5 170 118 02| 6 3 INN+3 T 180 118 02| 1 3 64 S= ¢7 1430 102 1.8
4 1 24 N+1 &A 140 95 25|13 2 24 S+2 +6 170 95 25| 4 5 64 S= v3 1430 102 1.8
13 2 INN+1 v2 120 6.0 6.0/10 7 2¢ N+1 &2 110 72 48| 6 7 44 S+2 v3 680 46 7.4
14 11 INN+1 &A 120 60 60| 4 1 3¢ N-1 v3 -50 25 95|10 11 44 S+2 v3 680 46 7.4
8 5 24 S= vK 110 25 95| 8 5 INN-1 *2 -50 25 95|14 2 3NS+2 v5 660 0.4 11.6
6 3 3#40-1 +9 100 0.2 11.8|14 11 34 S-1 *7 -50 25 95| 8 - 6.4
- - - - 13 - 5.7
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 7 54D0O-2 vA 500 116 04| 1 7 64V-1 vA 50 116 04]|10 14 6v V-1 a5 50 116 04
14 2 340-2 ¢A 200 88 32|10 14 3v N-2 LY -100 88 32| 1 7 4v V= LY -420 74 46
4 5 3v N= *A 140 60 60| 3 5 3#V+3 vA -170 6.0 6.0| 6 11 4v V= *4 -420 74 46
1 3 44 N-2 *A -100 32 88| 8 13 54V +1 3 -420 32 88| 3 5 4v0+3 £Q -510 32 838
10 11 24 0+1  +A -110 04 116| 6 11 54V +2 vA -440 04 116| 8 13 4vyDV+3 45 -890 04 11.6
8 - 6.4 2 - 5.9 2 - 5.9
13 - 5.7 4 - 6.2 4 - 6.2
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